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o001 B U S 1 1.004 155,000 155,620 AR = FUkR

0002 F > 1 1.009 102,900 103,826 Jt B A ARMHEA =1t

0003 F 5 1 0.553 96,900 53,586 Jt B A ARMHEA =t

0004 % £ 1 1.568 20,000 31,360 BFIAM KX S 1t

0005 F 5 3 1.442 46,900 67,630 AARRMAMBKE A =1t

0006 F 5 5 1.310 48,900 64,059 AR RMAMBKE A =1t

0007 F+ 5 5 1.126 38,000 42,788 = EBEEHARH

0008 F 5 5 1519 40,900 62,127 BARRMAMBKE A =1t

0009 F 5 4 1.723 38,000 65,474 BFIAM kX 1t

0010 + 5 5 1.538 45,000 69,210 BFIAM #k X 1t

0011 |+ P 1 0.750 61,100 45825 RS N—EK &4t

0012 + 5 4 1.047 32,000 33,504 BFIAM #k X 1t

0013 ¥ 3 A N 2 0.404 19,900 8,040 EEANZ VA4

0014 |+ v, 2 0.588 23,900 14,053 EHAM B =4

0015 F 5 7 1.572 27,000 42,444 BIRIAM X 21t

0016 % 1) 5 0.900 19,000 17,100 BFIAM X St

0017 4 % ¥ 1 0.162 11,700 1,895 Mtk K £t

0018 + > 1 0.465 25,900 12,044 ERAMHEA =T

0019 = L 2 0.725 27,000 19,575 EFAMBRIEMRA I BEXEB)IIE X
0020 = L 2 0.578 25,000 14,450 EFAM BRI ILBEXEB)IIEFFR
0021 & )L = 1 0.234 23,000 5,382 BBFIAM XS4t

0022 + 5 3 0.739 31,000 22,909 BFIAM kX 1t

0023 + > 7 1.337 17,500 23,398 EFAM IR 1t b EXRENE)IIE ERT
0024 + > 5 0.904 22,000 19,888 EF AMIFILM A AL B EXEMB)IIE EFT
0025 4 )L = 1 0.287 50,000 14,350 BFIAM X St

0026 4~ )L = 1 0.529 65,000 34,385 BFIAM XS4t

0027 4 )L = 1 0.231 18,000 4,158 BRIAM XS4t

0028 = L 1 0.423 25,000 10,575 /—RT4\— &4t

0029 4 E 1 0.426 31,000 13,206 FEHEAMHEX =1

0030 F /N & 1 0.216 11,700 2,527 it £t

0031 & )L = 1 0.426 35,000 14,910 BHIAMEX St

0032 4 )L = 1 0.433 50,000 21,650 BFIAM X £ 1t

0033 + 5 1 0.384 62,000 23,808 BBFIAM kX &1t

0034 F > 2 0.970 38,000 36,860 FAFIAR#M X =4t

0035 4 E 1 0.691 38,000 26,258 FFEFHARMHKE A1

0036 F > 3 0.500 22,000 11,000 EFAMIFIEMR A LB EXERB)IIE X
0037 + > 6 0.880 22,000 19,360 EFAMIFILM A LB EXEB)IIE X
0038 F 5 1 0.307 45,000 13,815 = EBEEMKASH

0039 7 P 1 0.384 51,100 19,622 BRS/N\—HKX S5t

0040 F 5 2 0.607 50,000 30,350 BBFIA#M #k X &1t

0041 F 5 3 0.968 32,000 30,976 BFIAM kX 1t

0042 F 5 1 0.459 65,000 29,835 BFIAM #k X 1t

0043 F > 2 0.432 28,000 12,096 EFAM KL A LB EXIEB)IIE X
0044 = L 2 0.800 27,000 21,600 EFARMIFIEKE XA BERER)IIE KR
0045 v 1 0.347 21,000 7,287 %A1t IMR=ZBIEE

0046 F 5 2 0.843 40,000 33,720 BRIAM #k X &1t

0047 F 5 1 0.459 65,000 29,835 BFIAM #k X 1t

0048 ¥ S H N 3 0.620 11,700 7,254 ittt

00499 4~ )L = 3 0.708 33,000 23,364 BIIAM KX S 1t

0050 & L = 1 0.318 100,000 31,800 A R KA MK A=+

0051 = L 5 0.762 14,000 10,668 BBFIAM X 1t

0052 = L 3 0.514 13,000 6,682 BREARM TEHA 1
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B A%| M
L 3 0.678
v 3 0.678
S5 1 0.347
L 3 0.682
L 3 0.810
v 1 0.750
VAREA 1 0.266
v 1 0.494
+ 1 0.542
aAh N 5 1.215
v 6 1.137
+ 1 0.432
4 ¥ 3 0.843
R 5 1.069
v 1 0.312
+ 3 0.974
- 6 1.034
2 ¥ 2 0.252
v 3 0.667
v 1 0.370
VAREA 1 0.212
v 1 0.389
£ 2 0.588
S5 1 0.404
aAh N 3 0.559
S5 5 1.463
v 5 1519
S5 4 1.243
S5 2 1.741
S5 4 1.196
S5 5 1.547
S5 4 0.971
v 3 1.381
v 2 1.136
v 3 1.376
v 2 0.905
F oA 1 0.246
£ 1 0.243
v o2 1 0.156
S5 1 0.347
L 1 0.370
L 7 2.091
v 5 1.158
v 3 0.899
a A N 8 1.976
5 4 1.047
a A N 7 1.951
-2 2 0.404
L = 1 0.138
v 2 0.332
+ 5 0.812
a A N 5 0.738

EALE |

22,500
30,000
28,000
14,000
25,000
71,900
19,900
14,900
21,900
18,000
23,000
39,000
11,700
37,800
12,900
37,000
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28,000
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12,300
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34,000
31,000
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46,100
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19,100
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11,700
15,900
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15,255 E FAM BRI AL E R IER)IIE £
20,340 BRIAR M X =4t
9,716 TFAMIKILMEX AL EE R IER)IIE AR
9,548 BAIAMBH A =1L
20,250 EFAMZILE R 1t E X BB IIE R
53,925 L B A KM KX =+t
5293 BEAZVYHARAL
7,361 BAR AKX =1
11,870 EEANZ VXS
21,870 /—RT4N\—H)A &=
26,151 AR KX =4t
16,848 /—RA T4\ —HHX &1t
9,863 MMtk =4t
40,408 B = SEARIS
4,025 AARHIHAM X =4
36,038 /—RTa4/N\—H)AEH
24609 kX =t SHBEKRIS
5998 K&t EHBRAKRIS
18,676 BRFIAM KA =+t
19,610 BAIAMHE A=+t
2,608 MEARM I E (A=A
21,395 BAIARM X =4t
24,049 L B AR HE X =T
24,644 BAIAM KX =4
10,621 /—RATao/\—KX &1t
49,742 BRI A MK =4
47,089 BBFIAR M X =1L
52,206 BRI AR A #x X =1L
80,260 BRI /N\—HX =1t
57,408 BRI AR M #x X =1L
72,864 BRIV /N\—HHX &
34,859 HARMAM KK =
49,716 BBFIAM X =4t
45,440 BBFRIA M X =1L
74,442 BRSUN—HBHX &1
4,721 BRI N—H|A =4
1,476
6,294 L B AR K&t
2,808 A= INMR=ZZBIFEE
8,640 EHAMBK A=+
9,250 T FAM BRI AL E X IER)IIE AT
54,366 T FAM LR St E R BB IIE R
28,950 BRI AR M #r X =1L
10,788
37,742 BRIV /N\—H K&t
20,940 = EBEEK/A R
29,265 /—R T4 N\— %A=
4,848 MEARM T E (A4
2,070 BAIAMHE A=
3,884 MM =4t
12911 EEANZ VA S
13,284 /—RAT14o 1\ —HX &1t
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0.465
1.025
0.890
0.973
1.086
1.424
0.416
1.348
1.474
1.465
0.462
1.302
1.329
0.072
0.072
0.072
0.065
0.058
0.058
0.041
0.077
0.102
0.064
0.096
0.024
0.024
0.078
0.096
0.138
0.216
0.096
0.046
0.096
0.061
0.087
0.061
0.116
0.047
0.116
0.024
0.061
0.024
0.071
0.024
0.024
0.116
0.061
0.270
0.104
0.059
0.059
0.077

19,900
20,000
36,900
28,900
16,000
46,000
47,100
23,900
41,100
18,000
21,900
41,900
48,000
7,100
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7,700
7,700
7,700
7,100
9,100
7,100
7,100
9,100
9,000
9,000
7,700
9,000
9,100
26,100
7,100
7,000
7,100
7,000
7,100
7,000
10,000
9,000
7,700
9,000
9,000
9,000
9,000
9,000
9,000
9,000
7,000
21,600
7,000
7,000
7,000
7,000

&8 |
9,254 BEARZVYHARAL
20,500 BBFIAR M #r X =1L
32,841 ILEHAM TEH A=
28,120 BARMAM KX =1
17,376 BBAIAM KX =+t
65,504 BRI AR #x X =1L
19,594 BRSU/N\—HAEH
32217 BARMAM KK =1
60,581 BRIV /N\—HHK &1t
26,370 BFAIARM X =4t
10,118 EEAN— VXS4
54,554 H AR AKX
63,792 BFAIA M #x X =1L
511 BRIV N—HAEH
511 BRIVN—HAEH
511 BRIV N—HAEH
501 BRIV /N—HAEH
447 BRI N—HA =
447 BRI N—HA =
291 BRSUN—HAEH
701 BRIV N—HAEH
724 BRSUN—HAEH
454 BRI N\—A =4
874 BRIV /N—HAEH
216 B AR MAM K=+
216 B AR AMBKE A=
601 BRIV /N—HAEH
864 A ARMMAMBKE A=+
1,256 BRIV /N\—HKAEH1
5638 BRI /N\—AX=4t
682 BRIV /N\—HAEH
322
682 BRIV /N\—HAEH
427
618 BRI/ N\—HAEH
427
1,160 kR4t IH=ZZBIEE
423 BARMAMKEA =T
893 BRIV /N\—HAEH
216 B AR MAMBKE A=+
549 A AR AM KA =+t
216 B AR MAM K=+
639 A AR IMAMBKE A=
216 B AR MAMBKE A=
216 B AR MAMBKE A=
1,044 B AR AMHE AT
427
5832 BRI /N\—HA4
728
413
413
539
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0157 T ¥ < a 1 0.108 7,100 767 BRS/N—rRX Lt

0158 & + 1 0.757 40,000 30,280 /—RT4N\—) A=

0159 F > 1 0.426 58,000 24,708 BBFIARM#E X St

0160 F > 1 0.484 61,000 29,524 BRIARM X St

0161 F > 3 1.378 42,000 57,876 BB IR R X St

0162 F > 3 0.820 26,000 21,320 BB IARM X St

0163 7~ 7R 3 0.708 28,800 20,390 xRt ERAIS

0164 A 2 Y 1 0.216 11,700 2,527 Mirir K £t

0165 + v 1 0.650 14,900 9,685 AR MMAMKA =1t

0166 |+ b 3 0.868 11,700 10,156 MM =1t

0167 % E 5 1.332 19,000 25,308 /—RT4N\—K) A=t

0168 % E 2 0.731 19,000 13,889 /—RTa o /N\—R &%t

0169 F > 1 0.416 68,900 28,662 Jt H AR &4t

0170 % E 2 0.840 24,000 20,160 /—R T4\ — A=t

0171 = L 4 0.955 25,000 23,875 EFA#M IRt B ERIENR)IIE X
0172 = L 6 1.976 25,000 49,400 EFAM LA S EERIEB)IE XM
0173 |+ > 5 1.202 25,900 31,132 ERAAR#MH A=+

0174 + > 5 1.232 24,000 29,568 BBFIARME X St

0175 F > 3 1.042 28,000 29,176 BB IR X St

0176 |+ > 6 1.603 18,900 30,297 ERAR#MHAEH

0177 + > 5 1.703 23,000 39,169 BB IARM X St

0178 & + 2 0.378 10,300 3,893 MMtk &4t

0179 ¥ 5 A N 1 0.246 11,700 2,878 Mtk &4t

0180 F > 2 0.807 46,000 37,122 = 2B EEHA S

0181 F > 7 1.581 11,700 18,498 M MAkE X &4t

0182 |+ > 8 1.883 26,900 50,653 ERAR#M KA

0183 F > 1 0.423 65,000 27,495 = EBEEHA S

0184 F > 3 1.005 48,000 48,240 BBFIAM X &4t

0185 F > 6 1.376 36,000 49,536 = ZBEEKA R

0186 F > 4 1.098 40,000 43,920 BBFIAM X &4t

0187 & + 3 0.732 38,000 27,816 EFA#M IRt B ERIERIIIE XM
0188 & + 1 0.529 44,400 23,488 MMk ik &t

0189 4 E 1 0.581 74,000 42,994 EIRARMHERX St

0190 F 2 0.822 17,300 14,221 #XLit IMR=ZZBIEE

0191 % E 1 0.415 41,000 17,015 FEHARMKA =t

0192 % E 1 0.384 38,900 14,938 dt B AR =1t

0193 = L 1 0.416 27,000 11,232 EFAMBIEHA S BEXEB)IIEFFR
0194 F > 2 0.542 38,000 20,596 = EIEEEHA S

0195 |+ > 2 0.830 89,700 74,451 BRR#HEZER

0196 |+ > 5 0.856 22,000 18,832 T FAMRILMRX LB EXEMB)IIEFFRT
0197 7~ R 1 0.216 22,000 4,752 AL HAARAMHEA R

0198 F > 2 0.558 38,000 21,204 = EBEEHRASH

0199 & + 2 0.658 28,900 19,016 BEANZVYHA =T

0200 + b 1 0.465 12,600 5859 MRS /N—% XSt

0201 F > 1 0.423 64,900 27,453 L BARM X &4

0202 F > 1 0.650 65,000 42,250 BBFIAM X &4t

0203 & JL = 2 0.768 18,000 13,824 BBFIAM X &4t

0204 + v 1 0.627 28,000 17,556

0205 = L 1 0.553 27,000 14,931 EFAMBIEHA AL BEXEB)IIE X
0206 + v 1 0.659 18,000 11,862

0207 |+ > 6 1.374 28,000 38,472 EFAMIFIEME A 1AL BERENE)IIE KR
0208 A 2 Y 1 0.426 12,000 5,112
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1.565
1.136
0.969
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1.171
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1.200
1.232
1.080
1.112
1.140
1.201
1.759
0.216
0.347
0.204
0.216
1.684
1.230
1.572
0.908
0.508
0.622
1.146
0.396
0.416
0.814
0.690
0.277
0.800
0.691
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0.820
0.550
1.002
0.807
0.600
0.700
1.202
1.336
0.807
0.508
1.201
0.600
0.387
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12,000
32,000
32,000
28,000
24,000
28,000
28,000
30,000
28,000
43,000
28,000
30,000
31,900
28,000
28,000
25,000
28,000
29,000
19,000
12,300
28,000
22,000
16,900
30,000
30,000
20,900
32,000
70,000
11,700
12,900
18,600
33,000
26,000
11,700
8,000
11,700
61,600
8,000
12,000
41,100
35,000
51,100
72,000
45,000
27,000
29,000
58,000
45,000
25,000
52,000
46,600

&4 | BrE%

3,636 MAEARM I E (A4
9,600 MAEARM I E (A=A
16,256 £ FAM BRI AL E R IEMR)IIE £
24,128 EFAMBZILKE A 1B E R BB IIE R
26,124 T FAMBZILKE A 1B E R BB IIE EFT
33,264 EFAMBZILME A St E X BB IIE T
33,992 EFAMBZILKE A Sttt iBE X BB IIE R
43,820 EFAMBILHEA =1L E R IEB)IIE EFT
34,080 = EBEEMARH
27132 EFAMBZILKE R Sttt E X BB IIE T
62,264 FEHARM KA =1L
32,788 EFAM IR St b E X BB IIE 3T
35,100 BFIAR#M #r X =4t
38,280 ERAR#MH A=
34,496 EFAMBZILM A 1t E R IEB)IIE R
30,240 EFAMBZILE R St E X BB IIE T
27,800 EFAMBZILE R St E R BB IIE T
31,920 EFAM BRI A St E X BB IIE T
34,829 BFAIA#M KX =1L
33421 EFAMBZILM A Sttt E R BB IIE R
2,657 REAM I E (A4
9,716 TFAMIFILMEX AL EEZIER)IIE AR
4,488 I HAAMHEA =T
3,650 HAHMAM KK =1L
50,520 EFAM IR St E R BB IIE EFT
36,900 EFAM IR St E R BB IIE EFT
32,855 BEA- VA4
29,056 AR M KX =4t
35,560 BRI AR M #x X =4t
7,277 M=t
14,783 B A MAM X =4t
7,366 BRI /N\—HA =4
13,728 BAIAM KA =+t
21,164 = ZBEEK/RA R
8,073 MMt =+t
2,216 BAHBAM KA =4
9,360 MM =+t
42,566 BRI /N\—X =4t
5584 BAHMAM KA =1L
9,840 MAEARM I E (A4
22,605 BRIV /N\—HX =t
35,070 BFAIAR#M KX =4t
41,238 BRI /N—HA =4t
43,200 LR AKX =4
31,500 BFIAR#M#r X =1L
32,454 BAIAM X =4t
38,744 BRI A M #x KX =1L
46,806 LR AR rHX =1t
22,860 LiRAR#M#r X =4t
30,025 BFIARM KX =4t
31,200 LiRAR#M#r KX =4t
18,034 BRIV /N\—H#AEH



EEEIE B A ME | BAEE | &8 | BEEES
0261 + > 1 0.508 70,000 35,560 LiRAR#M#r X =4t

0262 + > 2 0.930 70,000 65,100 LiR AR ##r X =4t

0263 F 5 2 0.807 58,000 46,806 FBFIAM #E X 1t

0264 + > 2 0.888 70,000 62,160 LiRAR##x X =4t

0265 + > 3 1.121 15,000 16,815 IR AMBE A=+t

0266 F 5 5 2.121 36,000 76,356 BEBFIARM kX &4t

0267 F 5 5 2.079 37,000 76,923 BBFIARM kX &4t

0268 F 5 5 1.231 29,000 35,699 BFIAM kX 1t

0269 + > 4 1.015 15,000 15,225 IR AMBEX =T

0270 7~ R 7 0.977 31,800 31,069 X =tt SHBEAKRIS
0271  + > 1 0.384 72,000 27,648 LR AR MK =4t

0272 + > 1 0.465 72,000 33,480 LiRAR#M#r X =4t

0273 + 5 1 0.529 63,000 33,327 BRIAM kK 1t

0274 7K R 4 0.894 44,800 40051 Xt SHBRAIS
0275 4 L = 2 0.659 11,700 7,710 it 4t

0276 t v 1 0.416 19,900 8,278 HARMAMKEK =1
0277 H Y > 1 0.416 25,000 10,400 LA ARMHEX =1

0278 A E 2 0.822 40,900 33,620 dt BARM K =1t

0279 F 5 1 0.529 47,000 24,863 = EBEEMKA R

0280 FRIA+A—% 1 1.296 204,000 264,384 LI AM%ERA 1t

0281 F 5 3 0.725 36,900 26,753 L B A ARMHEAX =t

0282 F 5 3 1.078 25,900 27,920 L BARAARMHEAX =T

0283 F 5 7 1.084 13,000 14,092 BFIAM X St

0284 | F P 4 1.316 46,100 60,668 ER S/ \—tRX &4t
0285 | F P 3 0.831 46,100 38,309 HRSU/N—kHA &4t
0286 F 5 7 1.629 38,900 63,368 Jt B A ARMHEA =t

0287 A O Ah N 1 0.307 11,700 3,592 Mtk £t

0288 v 1 0.983 16,900 16,613 BAHMAM B =1
0289 v + 2 0.384 15,900 6,106 EEN— VA =1L

0290 * > @ A N 5 1.132 13,100 14,829 REARM TEHA =
0291 A > @ AHh N 7 0.945 14,000 13,230 /—RTao 1\ —HHX &1t
0292 A > @ A N 7 0.985 14,000 13,790 /—RATao 1\ —HX &1t
0293 FKRITAbA—2 1 0.783 165,000 129,195 ARR&=# FoUkR

0294 a J 1 0.741 11,700 8,670 Mtk &4t

0295 F 5 9 1.487 18,900 28,104 BARMAMBK A =1t
0296 + 1 0.900 39,500 35,550 EFARM IR A S BERENE)IIE KR
0297 A E 1 0.640 30,000 19,200 /—RA T4\ —H( X &1t
0298 F 5 1 0.360 31,000 11,160 BFIAM X St

0299 F 5 2 0.514 16,900 8,687 H RHMMAM MK =4t
0300 ¥ + 2 0.598 15,900 9,508 BEANZ VA4

0301 F 5 3 0.706 16,900 11,931 AR AM XS4
0302 = L 1 0.298 16,000 4,768 BBFIAM X1t

0303 7k R 1 0.270 31,800 8,586 &t EHBEARISE
0304 F 5 1 0.396 33,000 13,068 BFIAM X St

0305 ¥ + 1 0.578 39,500 22,831 EFAMF KX S BERER)IIE KR
0306 F > 1 0.492 28,000 13,776 EFAM IR A LB EXEB)IIE X
0307 ¥ + 1 0.518 39,500 20,461 EFARMFIEKE XA BERER)IIE KR
0308 4 E 2 0.612 20,000 12,240 LR AM X &4

0309 + > 1 0.492 62,000 30,504 iR AR#M#x X =4t

0310 % L = 2 0.874 55,000 48,070 BBFIAM X £ 1t

0311 + v 1 1.475 117,000 172,575 FFHARMHE A1

0312 k F 1 0.462 16,200 7484 ¥pXLt INRZ= 2 BIEE
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0313 |+ > 1 0.486 69,700 33874 ARt EZHR

0314 A E 1 0.378 21,000 7938 /—RT4 N\ —#K A=

0315 = L 1 0.544 25,000 13,600 EFAM RIS ALBEXEB)IIEFFR
0316 % E 1 0.389 21,000 8,169 /—RTa4 o N\—kh A&t

0317 & 1) 1 0.389 31,900 12,409 /—RT4N\—R &%

0318 |+ > 1 0.439 67,700 29,720 ARt EZHR

0319 4 1) 1 0.416 42,000 17,472 AL HARAMHEA =1

0320 4 F A 1 0.102 6,000 612

0321 F > 1 0.697 61,000 42517 BRIARM X St

0322 F > 1 0.462 11,700 5,405 M MAEE X &4t

0323 F 2 1 1.166 49,900 58,183 /—RT4 o /N\—hA =t

0324 F > 1 0.306 23,900 7,313 HAR A1

0325 F > 1 0.306 23,900 7,313 HAR A1

0326 F > 1 0.369 23,900 8,819 HARHMAM KA =4

0327 F 2 1 0.544 46,900 25514 /—R T4\ —k A=t

0328 |+ > 1 0.600 108,700 65,220 ARt EZH=

0329 4 F A 1 0.194 6,000 1,164

0330 4 F A 1 0.174 6,000 1,044

0331 4 F A 1 0.298 6,000 1,788

0332 o + 1 0.850 39,500 33,575 EFAM IRt B ERIENRIIIE XM
0333 T ¥ ¥ 2 1 0.144 15,300 2,203 Rt IR=ZZBhESE

0334 = L 1 0.144 14,000 2,016 BBFIAM X &4t

0335 % 2 3 1 0.919 70,000 64,330 BFIARM XS4t

0336 |+ > 1 0.324 28,000 9,072 EFAMIFIEHEX I BERER)IIE KR
0337 > 1 0.207 22,000 4,554 TFAMBILMA S BEEXEB)IIE X
0338 |+ > 1 0.416 28,000 11,648 T FAMBZILHA LB EXEB)IIEFFR
0339 F > 1 0.606 52,900 32,057 t BAARMHEX &4

0340 7 > 1 0.461 47,000 21,667 EIRAR#M A=+

0341 | F > 1 0.353 47,000 16,591 LR KM =4t

0342 > 1 0.407 72,000 29,304 EIRAR#M %A=

0343 7 > 3 1.005 62,000 62,310 EIRAR# X =4+t

0344 | F > 5 1.388 20,000 27,760 EIRAR#M %X =4

0345 | F > 5 1.201 18,000 21,618 EIRAR#M %A=+

0346 7 > 5 1.300 20,000 26,000 EIRAR# X4t

0347 | F > 5 1.262 15,000 18,930 LR KM =4t

0348 F > 5 1.241 26,000 32,266 BFIAM XS4t

0349 > 5 1.361 15,000 20,415 EIRAR# %A=

0350 F > 5 1.418 28,000 39,704 BFIAM XS4t

0351 F > 4 0.995 27,000 26,865 BFIARM XS4t

0352 7 > 4 1.016 18,000 18,288 iR KM X =1t

0353 7 > 4 0.694 15,000 10,410 LR AKX =4t

0354 | F > 4 0.790 15,000 11,850 LR KM =4t

0355 7 > 4 0.719 15,000 10,785 LR KM X =4t

0356 F > 4 0.738 20,000 14,760 = ZBEEKA 1

0357 | F > 3 1.212 18,000 21,816 EIRAR#M %A=+

0358 A 2 Y 2 0.678 16,600 11,255 RSV /N\—)A =4t

0359 o + 2 0.833 39,500 32,904 EFA#MIFIEMA AL B ERIENRIIIE XM
0360 + 5 1.177 25,900 30,484 EEAN-VYHAEH

0361 o + 5 1.124 38,000 42,712 EFAMFIERA S EEREB)IE XM
0362 + v 2 0.658 18,000 11,844 = 2BEEHA R

0363 a 1) 2 0.465 20,900 9,719 ILAXRM TEH(ASH

0364 »* > O H N 3 1.005 25,000 25,125 =R BEEKA 4
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1.191
0.736
0.423
0.347
0.508
0.326
0.649
0.465
0.807
0.600
1.160
1.575
0.691
0.337
0.276
0.204
0.418
0.465
0.550
0.550
0.465
1.494
0.352
0.172
0.600
0.347
0.384
1.675
1.217
0.955
1.388
0.438
1.235
1.042
0.384
0.204
0.311
0.581
0.480
0.380
0.507
0.384
0.596
0.384
0.678
0.480
1.147
1.103
0.775
0.388
0.592
1.005
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28,000
28,000
27,000
26,000
15,300
18,000
11,500
26,100
60,000
42,000
11,700
27,000
11,900
8,900
11,700
12,000
13,900
19,000
42,000
43,900
60,000
41,900
46,100
9,700
35,000
16,900
35,700
23,000
15,000
22,000
13,900
18,000
13,900
13,900
60,000
31,800
48,100
78,900
73,900
22,000
110,900
14,000
19,900
16,000
12,300
38,600
12,000
40,000
27,000
39,500
30,000
37,000
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33,348 = RBEEHKARH
20,608 = RBEEHRARH
11,421 EFAMEFIEKRASHAEEREB)IIE X
9,022 /—RT4 o \—H)AEH
7,772 %KXt K= ZBIEE
5,868 FBFIAM X =1t
7464 RERM I ER A1
12137 BRI /N—HK A=
48,420 BBRIAM X =1t
25,200 A IARM %A =41t
13572 Imrtr &4t
42,525 TFAM LM 1A EEXEEIIE X
8,223 At B AKRMx KX =4t
2,999 At BARM KX =4t
3,229 MM 21t
2,448 BBAIAM B =1
5810 EEN=_ VKA1t
8,835 /—RATa4 /N\—H)AEH
23,100 A IARM X =41t
24,145 L BARM X =1
27,900 = EBEEHRARH
62,599 dt B ARM K =1t
16,227 BRI /N\—HK A=
1,668 MIMktr R =4t
21,000 A IR KA =41t
5864 HARMAMBEX =1
13,709 itk &4t
38,525 AFAIAR#M KA =4t
18,255 B AM X =1t
21,010 ELHKRM KA =1
19,293 BEANZVYH A=+
7,884 BRAIARM A =41t
17,167 BEANZVYH A=
14,484 BEANZVYHA S
23,040 FRAIARM X =4t
6,487 A=t SEARIS
14,959 BRS/N\—HKA =
45,841 St B AR MK =4t
35472 k BAARMHEX =1
8,360 T FAMBRKILMA I EEXIEEIIEXEFR
56,226 FRFIAR#M X =4t
5376 BBAIAMBHEX =1t
11,860 BEANZVYHA =T
6,144 /—RAT4/\— A&
8,339 MREARAM I EHA =1
18,528 /—RT4/\—RHK &%t
13,764
44,120 BBRIAM X =1
20,925 EFAM BRI Rt dbiEEZENR) I E XA
15,326 EFAMERIEEA AL EEREBIIIE X
17,760 BRI ARM X =1t
37,185 AR M %A=t
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0.828
1.332
0.918
1.3563
2.038
1.009
0.462
0.600
0.394
0.541
1.332
0.389
0.487
0.121
0.557
0.384
0.460
1.233
1.075
1.160
1.617
1.788
0.518
1.062
1.7585
0.649
0.480
1.388
1.104
0.600
1.103
1.104
1.479
0.188
0.350
0.564
1.530
0.300
0.246
0.892
0.740
0.311
0.924
0.384
1.355
1.063
0.404
0.512
0.649
0.933
0.507
0.564
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22,000
25,000
11,700
25,000
46,000
52,000
62,000
16,000
16,000
38,000
18,900
11,000
19,000
19,000
15,000
45,900
14,900
23,000
14,000
51,900
46,900
12,000
12,000
36,000
18,900
35,000
27,000
43,000
31,000
27,000
36,000
16,000
25,000
14,000
23,000
19,900
41,000
11,100
15,900
24,500
22,000
25,000
25,000
27,000
17,000
19,000
135,900
135,900
96,900
140,900
138,900
135,900

&4 | BrE%

18,216 = EBEEMA 1
33,300 EFAMBFILMEX 1t dbiEEENR)IIE XA
10,741 Irtr X &4t
33,825 = RBEEHKARH
93,748 FFEFHARM KA =1
52,468 EIRAR#M A=
28,644 EIRAR#M A=
9,600
6,304 BRI AM X =1t
20,558 FFEFHARM KA1
25175 L BARM X =4
4,279 BAHMAM K =1
9,253 Xt INMK=ZZBIEE
2,299 ELAARMHEX 1
8,355 MM AM X =1t
17,626 L B RAKR# X =4+
6,854 EEN— VKA1
28,359 /—RT4 N\ —K) A=t
15,050 /—R T4 /\—RHK &%t
60,204 Jt B ARM KX =1t
75,837 L BARMHEX =1
21,456 BRAIARM X =41t
6,216 BB AM X =1t
38,232 AR M %A=t
33,170 kB ARM K =1t
22,715 BRAIAR#M KA =1
12,960 EFAMERIEHEA AL EEREB)IIE X
59,684 FEEFARM KA1
34,224 BAIARM KA =41
16,200 EFAMERIEEA LB EREBIIE X
39,708 FRFIAR#M %X =4t
17,664 BRI ARM X =1t
36,975 BRAIARM KA =4+
2,632 BAIAMBEX =1
8,050 BB AM X =1t
11,224 BAEBAMHEX =4
62,730 FRFAIAR M X =4t
3330 MREARM I EHA 1
3911 BARMAMKE =1
21,854 EFAMIFILMEX Rt dbiEEZENR)IIE XA
16,280 EFAMIRILEA AL B EREMB)IIE X
7,775 EFAMBFMA St iEEX GBI E X
23,100 EFAM LR 1t dbiEERENR) I E XA
10,368 EFAMERILEA AL B EREMBIIIE X
23,035 /—RT4o N\ —K) A=t
20,197 EFAM R 1t dbiEERENR) I E XA
54,904 dt BARM KX =1
69,581 dt BARM K =1t
62,888 dt B ARM KX =1t
131,460 dt B AR Mk KX =%t
70422 L BARMHEX =1
76,648 L B ARMHEX =1
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0469 KRITAbA—2 0.933 140,900 131,460 dt B AR MK &1t

0470 A E 0.352 20,900 7,357 L BARMx X &4t

0471 T ¥ ¥ a2 0.243 11,700 2,843 MMtk &4t

0472 F > 0.764 47,000 35,908 BB IR R X &4t

0473 A& £ 0.389 28,900 11,242 B AR BAM KX =4t

0474 A E 0.564 30,000 16,920 /—R T4 /\—RHK &4t

0475 F > 1.750 32,000 56,000 RBFIAR#M#E K &4t

0476 A& £ 1.332 20,900 27,839 BAREMMAMK A=t

0477 A& £ 1.489 25,900 38,565 AAREMMAMK A=t

0478 9 1.245 38,900 48431 ILAARM TEH(ASH

0479 4 0.600 30,000 18,000 BBFIA# X &4t

0480 F N\ 0.410 11,700 4797 X &4t

0481 F 1.061 12,000 12,732

0482 = 0.960 27,000 25,920 EFARMIFIEKE XA BERER)IIE KR
0483 = 1.009 27,000 27,243 EFAMFIEBE XS BERER)IIE KR
0484 A 1.169 36,900 43,136 L B ARAAR#H X =4t

0485 A 0.581 94,000 54,614 LA XS4t

0486 4 0.913 23,000 20,999 /—RT4oN\—K) A=t

0487 HRIALFA—
0488 HRIALA—
0489 HRIA+A—
0490 KRIA+F—
0491 KRIA+FA—
0492 KRIA+F—

0.677 140,900 95,389 dt HARM K =1t
0.811 191,900 155,631 BRI A #r X =4t

0.480 135,900 65,232 dt BARM X =1t
0.581 140,900 81,863 dt B ARMHK =1t
0.691 140,900 97,362 dt BARM K =1t
0.750 145,900 109,425 dt B AR Mk X =4t
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0493 | F 0.423 40,900 17,301 LB ARKR#M %A=+
0494 FRIA+A— 0.352 135,900 47,837 AL BARAKRM KX =4t
0495 1.866 15,000 27,990 BFIAM X £ 1t

0496 & 0.576 10,700 6,163 Mtk &1t

0497 & 0.252 12,900 3,251 BAHMAM KA =1L
0498 H Y 1.016 24,000 24,384 FLHKRMHKE A=

0499 A& 0.512 41,000 20,992 FFHARMHKEAEH

0500 F+ 5 0.927 25,000 23,175 B IAME K St

0501 4 £ 0.462 28,000 12,936 BIIAM XSt

0502 = L 0.620 40,000 24800 BBFIAM kX £ 1t

0503 + 5 0.393 38,000 14,934 BBFIAM X &4t

0504 A& £ 0.658 45,000 29,610 FEFEARMHKEAEH

0505 4 £ 0.441 28,900 12,745 BASBMAM X =1
0506 F 5 1.744 12,000 20,928 B IAMIE K St

0507 HRITAbA—4H 1.190 140,900 167,671 L BAARMHEA ST
0508 t v 0.230 11,700 2,691 itk £t

0509 4 £ 0.774 36,000 27,864 FEHEARMHKAEH

0510 4 £ 0.774 26,000 20,124 /—RT42N\—HA &=
0511 % £ 0.706 130,000 91,780 AR &= FUUkK

0512 A > @ Ah N 0.570 13,100 7467 RERM I ERA =1
0513 + 5 0.396 11,000 4,356 H R MMAM A4t
0514 = L 0.532 25,000 13,300 EFAMIFIEM A LB EXEB)IIE EFT
0515 + > 0.736 50,600 37,242 /—RT4N\—H)AEH
0516 = L 0.512 25,000 12,800 EFAMIFIEM A LB EXEB)IIE EFT
0517 A& £ 0.414 17,000 7,038 /—RT4N\—H)AEH
0518 % £ 0.392 16,800 6,586 X &t EHRAKRIS
0519 4 £ 0.634 17,000 10,778 /—RA T4\ —HX &1t
0520 4 £ 0.392 16,000 6,272 /—RAT4 I\ — A&
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0521 | F P 1 0.800 51,100 40,880 RS /N\—RK &4t

0522 4 £ 1 0.648 28,900 18,727 BAHMAM KA =1t

0523 % £ 1 0.928 66,600 61,805 MMtE &1t

0524 = L 1 1.092 25,000 27,300 EFARMFFIEKE XS BERER)IIE KR
0525 % £ 1 0.984 46,900 46,150 BBFIAM XS4t

0526 7 P 1 0.786 56,000 44016 /—RT4/\— A&

0527 | F P 1 0.722 51,100 36,894 HRSU/N—RK &4t

0528 A E 1 0.509 33,000 16,797 FHEAMHEX =1

0529 F > 2 0.539 25,000 13,475 BFIAM X St

0530 7 P 1 0.529 51,100 27,032 RS N—RK &4t

0531 = L 3 0.809 25,000 20,225 EFARMIF LB X S BERER)IIE KR
0532 F > 5 1.235 23,000 28,405 BFIAM 4k X &1t

0533 F 5 3 0.884 22,000 19,448 = Z1BEEK A

0534 = L 3 1.085 25,000 27,125 EFARMF KX LB ERER)IIE KR
0535 F > 1 0.426 40,000 17,040 BFIAM X St

0536 7 P 2 0.624 41,100 25,646 RS /N\—RA &4t

0537 F 5 4 1.147 11,000 12,617 A R AM XS4

0538 F 5 3 0.964 39,000 37,596 = EBEEMA R

0539 F 5 5 0.997 36,000 35,892 = EBEEMKA R

0540 v 2 0.493 12,300 6,064 MMttt

0541  F > 5 1.299 32,000 41,568 BFRIAM X 1t

0542 H Y > 4 1.550 25,000 38,750 ELH AR KA =1

0543 = L 1 0.189 25,000 4725 EFAMBZ LKA I B EXIERB)IIE X
0544 H U S 1 0.215 52,900 11,374 ILAARM T E (A =1L

0545 F > 9 1.661 23,000 38,203 BFIAM #k X &1t

0546 Y 2 3 1 0.459 28,000 12,852 /—RAT14o 1\ —B(X &1t

0547 A E 1 0.336 42,900 14414 LB ARKR#H X =41

0548 A E 1 0.388 43,900 17,033 LB AR # X =4+

0549 A& E 1 0.216 18,000 3,888 /—RATa4u/N\—H)AEH

0550 F 5 2 0.701 46,000 32,246 = EBEEMKA R

0551 4 E 10 2.713 16,000 43408 /—RT4N\—HA &=

0552 F > 5 1.330 25,000 33,250 BFIAM#k X &1t

0553 4 E 7 2.087 17,000 35479 /—RT4N\—H)AEH

0554 F > 4 1.480 45,000 66,600 FBFNIAH kX &4t

0555 T ¥ < a2 1 0.138 12,600 1,739 MAEARM TE (A4

0556 F > 2 0.492 32,000 15,744 BFIAM X St

0557 F 5 11 1.666 16,900 28,155 AR MAM KA =1t

0558 F > 1 0.162 18,000 2,916 BFIAMBEX ST

0559 = L 1 0.277 25,000 6,925 T FAMIFIEMA LB EXEEIIEEFRRT
0560 4 2 ¥ 1 0.162 12,000 1,944 REARM TEK(RA 4T

0561 F > 6 0.854 12,000 10,248 BFIAM X St

0562 = L 1 0.277 25,000 6,925 T FAMIFEMA AL B EXEEIIEEFRRT
0563 F > 1 0.216 18,000 3,888 BFIAM B St

0564 = L 1 0.311 20,000 6,220 EFAMIFIEMA AL B EXEEIEEFRT
0565 4 1) 1 0.318 42,000 13,356 ELHAMBKEA =1t

0566 % 1) 1 0.259 32,000 8,288 ALHAAMBKA =

0567 F > 6 1.531 34,000 52,054 BFIAM #k X 1t

0568 F > 3 0.703 25,000 17,575 BFIAM X St

0569 4 1) 3 0.709 39,000 27,651 FLHAM A4

0570 % 1) 2 0.416 34,000 14,144 FLHAMBKEA =t

0571  + 5 2 0.254 11,700 2,972 Mt St

0572 % )L = 3 0.416 11,700 4,867 Mtk £t
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v 8 1.779
v 4 0.736
£ 1 0.384
£ 1 0.216
£ 2 0.614
v 8 1.796
v 4 0.752
L 4 1.115
v 7 1.886
v 5 1.148
2 2 0.378
L 1 1.078
L 6 2.165
v 1 0.599
A 2 0.896
A 1 0.384
A 5 1.765
A 1 0.494
v 6 1.450
£ 5 0.940
A 5 1177
£ 4 0.924
A 3 0.904
va 1 0.246
7 2 0.404
v 1 0.188
Y 1 0.216
R 1 0.423
A 1 0.508
A 5 1.261
£ 7 2.118
£ 3 1.078
L 7 1.985
£ 7 1.542
£ 3 1.154
£ 6 1.552
£ 2 1.110
£ 5 1.362
va 1 0.307
A 7 1.242
£ 5 1.200
£ 3 1.541
v 1 0.347
£ 1 0.635
S 1 0.138
£ 5 1.429
£ 5 1.202
A 1 0.549
v 1 0.576
v 1 1.082
£ 1 0.706
£ 1 0.462
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45,000
36,000
41,900
18,000
16,000
27,000
32,000
25,000
15,000
36,000
18,000
22,000
23,500
72,900

8,500
11,700
13,100
13,100
12,900
17,000
13,100
18,900
19,100

8,500
10,700
18,000
25,800
44,800
17,100
14,000
20,900
20,000
25,000
18,900
24,000
24,000
28,000
32,000
39,500
18,900
23,000
21,000
45,000
42,000
18,000
33,000
21,000
36,900
51,100
80,000
66,600
22,000
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80,055 = #BEEHARH
26,496 = EBEEHRARH
16,090 AL B AR ##EHX =4+t
3,888 /—RATa4u/N\—H)AEH
9,824 BBAIAM BN =1L
48,492 = EBEEHARH
24,064 = EBEEHRARH
27,875 EFAMRILMEX 1t dbiEEENR)IE XA
28,290 FRAIARM KA =41t
41,328 = EBEEHRARH
6,804 BRI AM X =1L
23,716 EFAMRILEX 1t dbiEEENR)IIE XA
50,878 EFAMIFILMEX St dbiEERENR)IE XA
43,667 At B AR M x X =4t
7,616 B RE AR KA =1
4,493 MM =1

23,122 RERM I EK A=
6,471 BREARAM TEHA
18,705 BAHMAM B =1t
15,980 /—R T4 /\—RHK &4t
15419 REARM TEHA =1
17,464 BASMAM X =1
17,266 BRS/\—HA =%t
2,091 BARMAMHEX =
4,323 MM =1t

3,384 BRI AM BN =1L

5513 (A=t SHEARIS
18,950 X &=# EHEARIIH
8,687 BRI /N\—HK &1t
17,654 /—RT4\—R &%
44,266 H AR KAMHEX =1
21,560 /—R T4\ —K A=t
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